
SAP ABAP table VTBLM0B {derived limit characteristics}

VTBLM0B

COUNTRY [CHAR (3)]

SECTOR [CHAR (10)]

RATING [CHAR (3)]

CRATING [CHAR (5)]

KLLRDEF01

MANDT [CLNT (3)]

CRATING [CHAR (5)]
 VTBLM0B-CRATING = KLLRDEF01-CRATING 0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]
 VTBLM0B-COUNTRY = T005-LAND1 

1..N

1

TB038A

CLIENT [CLNT (3)]

ISTYPE [CHAR (4)]

IND_SECTOR [CHAR (10)]

 VTBLM0B-SECTOR = TB038A-IND_SECTOR 

0..N

0..N

TP06

MANDT [CLNT (3)]

RATING [CHAR (3)]

 VTBLM0B-RATING = TP06-RATING 

1..N

1


